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Example

1. Construct a circumcircle of the triangle ABC where AB = 5cm,

 and BC = 7 cm.

Watch Video Solution

∠B = 75∘

2. In the figure, O is the centre of the circle. Find the length of CD, if AB =

5 cm. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wDZiy6C5bPjd
https://dl.doubtnut.com/l/_rJ5EW4haMhOn


Watch Video Solution

3. In the adjacent figure, there are two concentric circles with centre ‘O’.

Chord AD of the bigger circle intersects the smaller circle at B and C.

https://dl.doubtnut.com/l/_rJ5EW4haMhOn
https://dl.doubtnut.com/l/_oFfrxbVRyj38


Show that AB = CD. 

Watch Video Solution

4. Let ‘O’ be the centre of a circle, PQ is a diameter, then prove that

 (OR) Prove that angle in a semi-circle is right angle.

Watch Video Solution

∠PRQ = 90∘

https://dl.doubtnut.com/l/_oFfrxbVRyj38
https://dl.doubtnut.com/l/_dFrvvF3OVtXy


5. Find the value of  in the adjacent figure. 


Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_kpHPePrAIHTS


6. In the figure,  then find  ? 

Watch Video Solution

∠A = 120∘ ∠C

7. In figure,  is a diameter of the circle,  is a chord equal to the

radius of the circle.  and  when extended intersect at a point E.

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄CD

¯̄̄ ¯̄¯AC ¯̄¯̄¯̄BD

https://dl.doubtnut.com/l/_ncnmg6j4pbOK
https://dl.doubtnut.com/l/_PricAp2Wjfdj


Prove that . 

Watch Video Solution

∠AEB = 60∘

8. Construct a circumcircle of the triangle ABC where AB = 5 cm,

 and BC = 7 cm 
∠B = 75∘

https://dl.doubtnut.com/l/_PricAp2Wjfdj
https://dl.doubtnut.com/l/_8SRLFa0q0EXe


Watch Video Solution

9. In the figure, O is the centre of the circle. Find the length of CD, if AB =

5 cm. 

https://dl.doubtnut.com/l/_8SRLFa0q0EXe
https://dl.doubtnut.com/l/_8T0lYgYTyB8H


Watch Video Solution

10. In the adjacent figure, there are two concentric circles with centre

‘O’. Chord AD of the bigger circle intersects the smaller circle at B and C.

https://dl.doubtnut.com/l/_8T0lYgYTyB8H
https://dl.doubtnut.com/l/_2avLtj2Gl6P2


Show that AB = CD. 

Watch Video Solution

11. Let ‘O’ be the centre of a circle, PQ is a diameter, then prove that

 (OR) Prove that angle in a semi-circle is right angle.

Watch Video Solution

∠PRQ = 90∘

https://dl.doubtnut.com/l/_2avLtj2Gl6P2
https://dl.doubtnut.com/l/_sYvRBrtfA8IG


12. Find the value of  in the adjacent figure. 


Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_ZSqs5FPGCu8l


13. In the figure,  then find  ? 


Watch Video Solution

∠A = 120∘ ∠C

14. In figure,  is a diameter of the circle,  is a chord equal to the

radius of the circle.  and  when extended intersect at a point E.

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄CD

¯̄̄ ¯̄¯AC ¯̄¯̄¯̄BD

https://dl.doubtnut.com/l/_G8qayOwbnB2P
https://dl.doubtnut.com/l/_kMlkuYxq9jIq


Do This

Prove that . 

Watch Video Solution

∠AEB = 6∘

https://dl.doubtnut.com/l/_kMlkuYxq9jIq


1. In the figure, which circles are congruent to the circle A? 

Watch Video Solution

2. What measure of the circles make them congruent?

Watch Video Solution

https://dl.doubtnut.com/l/_1Hv3biyMXjbb
https://dl.doubtnut.com/l/_5nmOQpNKh958


3. In the figure, which circles are congruent to the circle A? 

Watch Video Solution

https://dl.doubtnut.com/l/_T7drlpkUyJAT


4. What measure of the circles make them congruent? 

Watch Video Solution

https://dl.doubtnut.com/l/_ChsBS9BJOzHm


5. In the figure, which circles are congruent to the circle A? 

Watch Video Solution

https://dl.doubtnut.com/l/_257CO8Y7EN89


Try This

6. What measure of the circles make them congruent? 

Watch Video Solution

1. In a circle with centre 'O' .  is a chord and 'M' is its midpoint . Now

prove that  is perpendicular to AB 


¯̄̄ ¯̄¯AB

∠(OM)

https://dl.doubtnut.com/l/_c1i30bQ4rCmZ
https://dl.doubtnut.com/l/_8Gd1PP8BOfQo


Watch Video Solution

2. if three points are collinear , how many circles can be drawn through

these points? Now, try to draw a circle passing through these three

points.

Watch Video Solution

https://dl.doubtnut.com/l/_8Gd1PP8BOfQo
https://dl.doubtnut.com/l/_LHm0b0q4KKmA


3. In the figure, O is the centre of the circle and AB = CD. OM is

perpendicular on  and  is perpendicular on . Then prove that

OM = ON. 

Watch Video Solution

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄ON ¯̄¯̄¯̄CD

4. In a circle with centre 'O' .  is a chord and 'M' is its midpoint . Now

prove that  is perpendicular to AB 


¯̄̄ ¯̄¯AB

∠(OM)

https://dl.doubtnut.com/l/_e33q6B0y6SfN
https://dl.doubtnut.com/l/_U6mzgq64oOcP


Watch Video Solution

5. In the figure, O is the centre of the circle and AB = CD. OM is

perpendicular on  and  is perpendicular on . Then prove that¯̄̄ ¯̄¯AB ¯̄¯̄¯̄ON ¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_U6mzgq64oOcP
https://dl.doubtnut.com/l/_5ABJ01VSvxlP


OM = ON. 

Watch Video Solution

6. In a circle with centre 'O'.  is chord and 'M' is its midpoint. Now

prove that  is perpendicular to AB. 


¯̄̄ ¯̄¯AB

¯̄¯̄¯̄¯OM

https://dl.doubtnut.com/l/_5ABJ01VSvxlP
https://dl.doubtnut.com/l/_azmhQpclMo5j


(Hint : Join OA and OB consider triangles OAM and OBM) 

Watch Video Solution

7. if three points are collinear , how many circles can be drawn through

these points? Now, try to draw a circle passing through these three

points.

Watch Video Solution

https://dl.doubtnut.com/l/_azmhQpclMo5j
https://dl.doubtnut.com/l/_4OYaJ56g3T8J
https://dl.doubtnut.com/l/_RWWZ83R3Payp


8. In the figure, O is the centre of the circle and AB = CD. OM is

perpendicular on  and  is perpendicular on . Then prove that

OM = ON. 

Watch Video Solution

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄ON ¯̄¯̄¯̄CD

9. Represent diagramatically 'chords of equal length are at equal

distance from the centre of the circle'.

Watch Video Solution

https://dl.doubtnut.com/l/_RWWZ83R3Payp
https://dl.doubtnut.com/l/_sDSJJ8Op7qgf


Exercise 12 1

1. Name the following parts from the adjacent figure where ‘O’ is the

centre of the circle 

 

(viii) shadedregion

Watch Video Solution

(i)¯̄̄ ¯̄¯AO(ii)¯̄̄ ¯̄¯AB(iii) ⌢ (BC)(iv)¯̄̄ ¯̄¯AC(v) ⌢ (DCB)(vi) ⌢ (ACB)(vi)¯̄¯̄¯̄AD

https://dl.doubtnut.com/l/_sDSJJ8Op7qgf
https://dl.doubtnut.com/l/_ZY1UwH5Ms1Tk


2. State true or false . 

A circle divides the plane on which it lies into three parts.

Watch Video Solution

3. State true or false . 

The region enclosed by a chord and the minor arc is minor segment

Watch Video Solution

4. State true or false . 

The region enclosed by a chord and the major arc is major segment

Watch Video Solution

https://dl.doubtnut.com/l/_ZY1UwH5Ms1Tk
https://dl.doubtnut.com/l/_O6FZq86Uoz72
https://dl.doubtnut.com/l/_hiSG9ZMQFefS
https://dl.doubtnut.com/l/_g0mMgQ0PLn4G


5. State true or false . 

A diameter divides the circle into two unequal parts.

Watch Video Solution

6. State true or false . 

A sector is the area enclosed by two radii and a chord

Watch Video Solution

7. State true or false . 

The longest of all chords of a circle is called a diameter.

Watch Video Solution

8. State true or false . 

The mid point of any diameter of a circle is the centre.

https://dl.doubtnut.com/l/_b4xFKpXsskW2
https://dl.doubtnut.com/l/_K3szaDOYExEU
https://dl.doubtnut.com/l/_12gD3rRJyT3H
https://dl.doubtnut.com/l/_WWoJ1wPnEgpS


Watch Video Solution

9. Name the following parts from the adjacent figure where 'O' is the

centre of the circle. 

 

Watch Video Solution

¯̄̄ ¯̄¯AO

10. Name the following parts from the adjacent figure where 'O' is the

centre of the circle. 

https://dl.doubtnut.com/l/_WWoJ1wPnEgpS
https://dl.doubtnut.com/l/_fgMbsTsFq0DM
https://dl.doubtnut.com/l/_e6gm8bM9M2TF


 

Watch Video Solution

¯̄̄ ¯̄¯AB

11. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_e6gm8bM9M2TF
https://dl.doubtnut.com/l/_xLYYBO97YO03


 


Watch Video Solution

¯̄̄ ¯̄¯BC

12. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_xLYYBO97YO03
https://dl.doubtnut.com/l/_3rSXHWT2Qh2u


 


Watch Video Solution

¯̄̄ ¯̄¯AC

13. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_3rSXHWT2Qh2u
https://dl.doubtnut.com/l/_nPRHkuwzUq3C


 


Watch Video Solution

¯̄¯̄¯̄¯̄¯DCB

14. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_nPRHkuwzUq3C
https://dl.doubtnut.com/l/_f10Bjt1O1sXJ


 


Watch Video Solution

¯̄¯̄̄ ¯̄̄ ¯ACB

15. Name the following parts from the adjacent figure where 'O' is the

centre of the circle. 

https://dl.doubtnut.com/l/_f10Bjt1O1sXJ
https://dl.doubtnut.com/l/_8XEqVq6n9r11


 

Watch Video Solution

¯̄̄ ¯̄¯AO

16. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_8XEqVq6n9r11
https://dl.doubtnut.com/l/_Fv5nmycemKBm


shaded region 

Watch Video Solution

17. State true or false . 

A circle divides the plane on which it lies into three parts.

Watch Video Solution

https://dl.doubtnut.com/l/_Fv5nmycemKBm
https://dl.doubtnut.com/l/_zaCSYuNastrk
https://dl.doubtnut.com/l/_SO47aQYMTGcw


18. State true or false . 

The region enclosed by a chord and the minor arc is minor segment

Watch Video Solution

19. State true or false . 

The region enclosed by a chord and the major arc is major segment

Watch Video Solution

20. State true or false . 

A diameter divides the circle into two unequal parts.

Watch Video Solution

21. State true or false . 

A sector is the area enclosed by two radii and a chord

W t h Vid S l ti

https://dl.doubtnut.com/l/_SO47aQYMTGcw
https://dl.doubtnut.com/l/_hcuX5EVWnGKt
https://dl.doubtnut.com/l/_I0Qpc4kmKR5d
https://dl.doubtnut.com/l/_HDwoDh6kwwRx


Exercise 12 2

Watch Video Solution

22. State true or false . 

The longest of all chords of a circle is called a diameter.

Watch Video Solution

23. State true or false . 

The mid point of any diameter of a circle is the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_HDwoDh6kwwRx
https://dl.doubtnut.com/l/_nxFeQVMjmkDa
https://dl.doubtnut.com/l/_k0WIfUb30tmj


1. In the figure , if AB = CD and  find  

Watch Video Solution

∠AOB − 90∘ ∠COD

https://dl.doubtnut.com/l/_jGHuj0PZu0E3


2. In the figure , PQ = RS and  . Find  and  

View Text Solution

∠ORS = 48∘ ∠OPQ ∠ROS

https://dl.doubtnut.com/l/_LUfqNjSTtMav


3. In the figure PR and QS are two diameters. Is PQ = RS? 

Watch Video Solution

https://dl.doubtnut.com/l/_0H6IULZw6TZM


4. In the figure, if AB = CD and  find  


Watch Video Solution

∠AOB = 90∘ ∠COD

https://dl.doubtnut.com/l/_HHDa2ceAw4tv


5. In the figure, PQ = RS and  . Find  and . 


Watch Video Solution

∠ORS = 48∘ ∠OPQ ∠ROS

https://dl.doubtnut.com/l/_vBa4Z9PTFGym


Exercise 12 3

6. In the figure PR and QS are two diameters. Is PQ = RS? 

Watch Video Solution

1. Draw the following triangles and construct circumcircles for them. 

In 

W h Vid S l i

ΔABC, AB = 6cm, BC = 7cm  and ∠A = 60∘

https://dl.doubtnut.com/l/_yDdtYUmnQ3AN
https://dl.doubtnut.com/l/_dr5xceirVCch


Watch Video Solution

2. Draw the following triangles and construct circumcircles for them. 

in 

Watch Video Solution

ΔPQR, PQ = 5cm, QR = 6cm  and RP = 8.2cm

3. Draw the following triangles and construct circumcircles for them. 

In 

Watch Video Solution

ΔXY Z, XY = 4.8cm, ∠X = 60∘  and ∠Y = 70& ∘

4. Draw two circles passing through A, B where AB = 5.4cm

Watch Video Solution

https://dl.doubtnut.com/l/_dr5xceirVCch
https://dl.doubtnut.com/l/_i1o0MYPlrYmK
https://dl.doubtnut.com/l/_hGnLNokpkxYy
https://dl.doubtnut.com/l/_MYJPUbBmtyp3


5. Draw the following triangles and construct circumcircles for them : In

, AB = 6 cm, BC = 7 cm and .

Watch Video Solution

ΔABC ∠A = 60∘

6. Draw the following triangles and construct circumcircles for them: In

 , PQ = 5 cm , QR = 6 cm and RP= 8.2cm.

Watch Video Solution

ΔPQR

7. Draw the following triangles and construct circumcircles for them: In

angleX = 60^@ angleY = 70^@`.

Watch Video Solution

ΔXY Z, XY = 4.8cm and

8. Draw two circles passing through A, B where AB = 5.4cm

Watch Video Solution

https://dl.doubtnut.com/l/_Fb1SMUrI2Qjw
https://dl.doubtnut.com/l/_plJhuS3wZtMj
https://dl.doubtnut.com/l/_efTymFNw9vgB
https://dl.doubtnut.com/l/_9mK78gwxQ9J2


9. If two circles intersect at two points , then prove that their centres lie

on the perpendicular bisector of the common chord.

Watch Video Solution

10. If two intersecting chords of a circle make equal angles with

diameter passing through their point of intersection, prove that the

https://dl.doubtnut.com/l/_9mK78gwxQ9J2
https://dl.doubtnut.com/l/_tmDvPWfnHRbZ
https://dl.doubtnut.com/l/_KPXcnqYBjavo


chords are equal. 

Watch Video Solution

11. In the adjacent figure, AB is a chord of circle with centre O. CD is the

diameter perpendicualr to AB. Show that AD = BD. 

https://dl.doubtnut.com/l/_KPXcnqYBjavo
https://dl.doubtnut.com/l/_sxI7HrP3DSTI


Exercise 12 4

Watch Video Solution

1. In the figure 'O' is the centre of the circle 

 find  
∠AOB = 100∘ ∠ADB

https://dl.doubtnut.com/l/_sxI7HrP3DSTI
https://dl.doubtnut.com/l/_Mkx0RxdTQZF9


View Text Solution

https://dl.doubtnut.com/l/_Mkx0RxdTQZF9


2. In the figure  then find  

Watch Video Solution

∠BAD = 40∘ ∠BCD

3. In the figure , O is the centre of the circle and  . Find 

 

∠POR = 120∘

∠PQR  and ∠PSR

https://dl.doubtnut.com/l/_uYi3PYuMPNho
https://dl.doubtnut.com/l/_GzRLdrrP20qr


Watch Video Solution

4. If a parallelogram is cyclic, then it is a rectangle. Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_GzRLdrrP20qr
https://dl.doubtnut.com/l/_rTR0bfxJtr1M


5. In the figure, ‘O’ is the centre of the circle. OM = 3cm and AB = 8cm.

Find the radius of the circle 

Watch Video Solution

6. In the figure, ‘O’ is the centre of the circle and OM, ON are the

perpendiculars from the centre to the chords PQ and RS. If OM = ON

https://dl.doubtnut.com/l/_aGwW00xVYCbd
https://dl.doubtnut.com/l/_Gq29z0WccdYV


and PQ = 6cm. Find RS 

Watch Video Solution

7. A is the centre of the circle and ABCD is a square. If BD = 4cm then

find the radius of the circle 

https://dl.doubtnut.com/l/_Gq29z0WccdYV
https://dl.doubtnut.com/l/_Sl1RsOEKlPaU


Watch Video Solution

8. Draw a circle with any radius and then draw two chords equidistant

from the centre

Watch Video Solution

https://dl.doubtnut.com/l/_Sl1RsOEKlPaU
https://dl.doubtnut.com/l/_TF185lCXxOA3


9. In the given figure ‘O’ is the centre of the circle and AB, CD are equal

chords. If  . Find the angles of the OCD 


Watch Video Solution

∠AOB = 70∘ Δ

10. In the figure, 'O' is the centre of the circle. 

 find . 
∠AOB = 100∘ ∠ADB

https://dl.doubtnut.com/l/_PajR0dXpmNck
https://dl.doubtnut.com/l/_e8IWUmGgBpnZ


Watch Video Solution

https://dl.doubtnut.com/l/_e8IWUmGgBpnZ


11. In the figure,  then find . 


Watch Video Solution

∠BAD = 40∘ ∠BCD

12. In the figure, O is the centre of the circle and . Find 

 and  


∠POR = 120∘

∠PQR ∠PSR

https://dl.doubtnut.com/l/_lRpjSoIbSBmr
https://dl.doubtnut.com/l/_UfQqeWlZw6OB


Watch Video Solution

13. If a parallelogram is cyclic, then it is a rectangle. Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_UfQqeWlZw6OB
https://dl.doubtnut.com/l/_XBttidOk9HVE


14. In the figure, ‘O’ is the centre of the circle. OM = 3cm and AB = 8cm.

Find the radius of the circle 

Watch Video Solution

15. In the figure, ‘O’ is the centre of the circle and OM, ON are the

perpendiculars from the centre to the chords PQ and RS. If OM = ON

https://dl.doubtnut.com/l/_ktmsnRZ1F8Pw
https://dl.doubtnut.com/l/_zht5wQI6zubx


and PQ = 6cm. Find RS 

Watch Video Solution

16. A is the centre of the circle and ABCD is a square. If BD = 4cm then

find the radius of the circle 

https://dl.doubtnut.com/l/_zht5wQI6zubx
https://dl.doubtnut.com/l/_fqTw8sl5JzLl


Watch Video Solution

17. Draw a circle with any radius and then draw two chords equidistant

from the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_fqTw8sl5JzLl
https://dl.doubtnut.com/l/_rHdsw8LSGk3m


Exercise 12 5

18. In the given figure ‘O’ is the centre of the circle and AB, CD are equal

chords. If  . Find the angles of the OCD 


Watch Video Solution

∠AOB = 70∘ Δ

https://dl.doubtnut.com/l/_J18qifzCiXPz


1. Find the values of x and y in the figures given below 

Watch Video Solution

2. Given that the vertices A, B, C of a quadrilateral ABCD lie on a circle.

Also  , then prove that the vertex D also lie on the

same circle.

Watch Video Solution

∠A + ∠C = 180∘

3. Prove that a cyclic rhombus is a square

Watch Video Solution

https://dl.doubtnut.com/l/_R2CkNV6WAuUc
https://dl.doubtnut.com/l/_zNpXgebrKU7I
https://dl.doubtnut.com/l/_7BPf0gFGbG1Y
https://dl.doubtnut.com/l/_HEyW8F3eFScB


4. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible :

Rectangle.

Watch Video Solution

5. (f) A quadrilateral PQRS with PR as diameter.

Watch Video Solution

https://dl.doubtnut.com/l/_HEyW8F3eFScB
https://dl.doubtnut.com/l/_37LD6JcNKWrW


6. Find the values of x and y in the figures given below. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZOHJbqHsA0xY


7. Find the values of x and y in the figures given below. 

Watch Video Solution

https://dl.doubtnut.com/l/_xlv6xgIhBhRZ


8. Find the values of x and y in the figures given below. 

Watch Video Solution

9. Given that the vertices A, B, C of a quadrilateral ABCD lie on a circle.

Also  , then prove that the vertex D also lie on the

same circle.

∠A + ∠C = 180∘

https://dl.doubtnut.com/l/_tVAWrKxrEqzc
https://dl.doubtnut.com/l/_OkitswdXdF0q


Watch Video Solution

10. Prove that a cyclic rhombus is a square

Watch Video Solution

11. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible :

Rectangle.

Watch Video Solution

12. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible

:Trapezium.

Watch Video Solution

https://dl.doubtnut.com/l/_OkitswdXdF0q
https://dl.doubtnut.com/l/_QLMcJtl7vPot
https://dl.doubtnut.com/l/_DLri20iwUHNN
https://dl.doubtnut.com/l/_9bxmRKPXcVgO
https://dl.doubtnut.com/l/_S83aohHrPBFU


13. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible :

Obtuse triangle.

Watch Video Solution

14. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed, write not possible. 

Non-rectangular parallelogram

Watch Video Solution

15. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed, write not possible. 

Accute isosceles triangle

Watch Video Solution

https://dl.doubtnut.com/l/_S83aohHrPBFU
https://dl.doubtnut.com/l/_pDy3VyiurGl1
https://dl.doubtnut.com/l/_hIqC3HSKQMF0
https://dl.doubtnut.com/l/_pKWpbGySjWc1


Exercise 12 1

16. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible : A

quadrilateral PQRS with  as diameter.

Watch Video Solution

¯̄̄P R

1. Name the following parts from the given figure where 'O' is a centre

of the circle.  ,

Watch Video Solution

¯̄̄A O

2. Name the following parts from the adjacent figure where ‘O’ is the

centre of the circle 

https://dl.doubtnut.com/l/_pKWpbGySjWc1
https://dl.doubtnut.com/l/_uDAy42aDYw2g
https://dl.doubtnut.com/l/_xmvGP8ZqylK0


 

(viii) shadedregion

Watch Video Solution

(i)¯̄̄ ¯̄¯AO(ii)¯̄̄ ¯̄¯AB(iii) ⌢ (BC)(iv)¯̄̄ ¯̄¯AC(v) ⌢ (DCB)(vi) ⌢ (ACB)(vi)¯̄¯̄¯̄AD

3. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_xmvGP8ZqylK0
https://dl.doubtnut.com/l/_k3Wv5o1KplZK


 


Watch Video Solution

¯̄̄ ¯̄¯BC

4. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_k3Wv5o1KplZK
https://dl.doubtnut.com/l/_dV1JPeMFmxCn


 


Watch Video Solution

¯̄̄ ¯̄¯AC

5. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_dV1JPeMFmxCn
https://dl.doubtnut.com/l/_v1aDjnqnC9XJ


 


Watch Video Solution

¯̄¯̄¯̄¯̄¯DCB

6. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_v1aDjnqnC9XJ
https://dl.doubtnut.com/l/_WaATp25SMttU


 


Watch Video Solution

¯̄¯̄̄ ¯̄̄ ¯ACB

7. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_WaATp25SMttU
https://dl.doubtnut.com/l/_LAHZ4XbaW7tN


 

Watch Video Solution

¯̄¯̄¯̄AD

8. Name the following parts from the adjacent figure where 'O' is the

centre of circle. 

https://dl.doubtnut.com/l/_LAHZ4XbaW7tN
https://dl.doubtnut.com/l/_xQapGRSnX930


shaded region 

Watch Video Solution

9. State true or false . 

A circle divides the plane on which it lies into three parts.

Watch Video Solution

https://dl.doubtnut.com/l/_xQapGRSnX930
https://dl.doubtnut.com/l/_HEStYAtfoMyO
https://dl.doubtnut.com/l/_UdoLwYGHjDXW


10. State true or false . 

The region enclosed by a chord and the minor arc is minor segment

Watch Video Solution

11. State true or false . 

The region enclosed by a chord and the major arc is major segment

Watch Video Solution

12. State true or false . 

A diameter divides the circle into two unequal parts.

Watch Video Solution

13. State true or false . 

A sector is the area enclosed by two radii and a chord

W t h Vid S l ti

https://dl.doubtnut.com/l/_UdoLwYGHjDXW
https://dl.doubtnut.com/l/_ke7bDWF0NCdS
https://dl.doubtnut.com/l/_8BBGHwfAlHgr
https://dl.doubtnut.com/l/_RweNkiVDnjo4


Exercise 12 2

Watch Video Solution

14. State true or false . 

The longest of all chords of a circle is called a diameter.

Watch Video Solution

15. State true or false . 

The mid point of any diameter of a circle is the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_RweNkiVDnjo4
https://dl.doubtnut.com/l/_DvrRTUYpo5vW
https://dl.doubtnut.com/l/_Z2bbOY8PXNol


1. In the figure, if AB = CD and  find  


Watch Video Solution

∠AOB = 90∘ ∠COD

https://dl.doubtnut.com/l/_9yJ6dyvIqzrr


2. In the figure, PQ = RS and  . Find  and . 


Watch Video Solution

∠ORS = 48∘ ∠OPQ ∠ROS

https://dl.doubtnut.com/l/_p39vkSqVSI7o


Exercise 12 3

3. In the figure PR and QS are two diameters. Is PQ = RS? 

Watch Video Solution

1. Draw the following triangles and construct circumcircles for them : In

, AB = 6 cm, BC = 7 cm and .

W h Vid S l i

ΔABC ∠A = 60∘

https://dl.doubtnut.com/l/_cCOGDjUskZAL
https://dl.doubtnut.com/l/_KQtkfokAAEVz


Watch Video Solution

2. Draw the following triangles and construct circumcircles for them. 

in 

Watch Video Solution

ΔPQR, PQ = 5cm, QR = 6cm  and RP = 8.2cm

3. Draw the following triangles and construct circumcircles for them: In

angleX = 60^@ angleY = 70^@`.

Watch Video Solution

ΔXY Z, XY = 4.8cm and

4. Draw two circles passing through A, B where AB = 5.4cm

Watch Video Solution

https://dl.doubtnut.com/l/_KQtkfokAAEVz
https://dl.doubtnut.com/l/_Y46Ia7SCKyv5
https://dl.doubtnut.com/l/_16yFN6o4EKTK
https://dl.doubtnut.com/l/_t72KIkmzbWeG


5. If two circles intersect at two points , then prove that their centres lie

on the perpendicular bisector of the common chord.

Watch Video Solution

6. If two intersecting chords of a circle make equal angles with diameter

passing through their point of intersection, prove that the chords are

equal. 

W t h Vid S l ti

https://dl.doubtnut.com/l/_oQhgjyb6l8qK
https://dl.doubtnut.com/l/_fuOqdEviUwbX


Exercise 12 4

Watch Video Solution

7. In the adjacent figure, AB is a chord of circle with centre O. CD is the

diameter perpendicualr to AB. Show that AD = BD. 

Watch Video Solution

https://dl.doubtnut.com/l/_fuOqdEviUwbX
https://dl.doubtnut.com/l/_WwAnf5dxQ8TW


1. In the figure, 'O' is the centre of the circle. 

 find . 


Watch Video Solution

∠AOB = 100∘ ∠ADB

https://dl.doubtnut.com/l/_AM08lSvXmEV5


2. In the figure,  then find . 


Watch Video Solution

∠BAD = 40∘ ∠BCD

3. In the figure, O is the centre of the circle and . Find 

 and  


∠POR = 120∘

∠PQR ∠PSR

https://dl.doubtnut.com/l/_XLHHmfFLTSxU
https://dl.doubtnut.com/l/_VqiwIVy1RaJZ


Watch Video Solution

4. If a parallelogram is cyclic, then it is a rectangle. Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_VqiwIVy1RaJZ
https://dl.doubtnut.com/l/_un4MRcSueRo4


5. In the figure, ‘O’ is the centre of the circle. OM = 3cm and AB = 8cm.

Find the radius of the circle 

Watch Video Solution

6. In the figure, ‘O’ is the centre of the circle and OM, ON are the

perpendiculars from the centre to the chords PQ and RS. If OM = ON

https://dl.doubtnut.com/l/_uMoF5zZBZqyI
https://dl.doubtnut.com/l/_3IIcVg0qkLCW


and PQ = 6cm. Find RS 

Watch Video Solution

7. A is the centre of the circle and ABCD is a square. If BD = 4cm then

find the radius of the circle 

https://dl.doubtnut.com/l/_3IIcVg0qkLCW
https://dl.doubtnut.com/l/_eCvA31xTNsuP


Watch Video Solution

8. Draw a circle with any radius and then draw two chords equidistant

from the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_eCvA31xTNsuP
https://dl.doubtnut.com/l/_K8tagcui7iMQ


Exercise 12 5

9. In the given figure ‘O’ is the centre of the circle and AB, CD are equal

chords. If  . Find the angles of the OCD 


Watch Video Solution

∠AOB = 70∘ Δ

https://dl.doubtnut.com/l/_jSCLEo8l58cK


1. Find the values of x and y in the figure given below . 

Watch Video Solution

https://dl.doubtnut.com/l/_RBkSkw2RX7vv


2. Find the values of x and y in the figure given below . 

Watch Video Solution

https://dl.doubtnut.com/l/_p04bCG31S1GU


3. Find the values of x and y in the figure given below . 

Watch Video Solution

4. Given that the vertices A, B, C of a quadrilateral ABCD lie on a circle.

Also  , then prove that the vertex D also lie on the

same circle.

∠A + ∠C = 180∘

https://dl.doubtnut.com/l/_zkZjQdxts8an
https://dl.doubtnut.com/l/_24J6gK2vKLNR


Watch Video Solution

5. Prove that a cyclic rhombus is a square

Watch Video Solution

6. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible :

Rectangle.

Watch Video Solution

7. For each of the following, draw a circle and inscribe the figure given. If

a polygon of the given type can’t be inscribed , write not possible

:Trapezium.

Watch Video Solution

https://dl.doubtnut.com/l/_24J6gK2vKLNR
https://dl.doubtnut.com/l/_Pg4x5v7aYHZG
https://dl.doubtnut.com/l/_7fsl7C4FCNLL
https://dl.doubtnut.com/l/_xGImgMVPBBiP
https://dl.doubtnut.com/l/_SRYnfnd3Aghd


8. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible :

Obtuse triangle.

Watch Video Solution

9. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed, write not possible. 

Non-rectangular parallelogram

Watch Video Solution

10. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed, write not possible. 

Accute isosceles triangle

Watch Video Solution

https://dl.doubtnut.com/l/_SRYnfnd3Aghd
https://dl.doubtnut.com/l/_2vlcAy5DdmSA
https://dl.doubtnut.com/l/_gyzQICkpz9fw
https://dl.doubtnut.com/l/_m2triqgWbk7Y


Examples

11. For each of the following, draw a circle and inscribe the figure given.

If a polygon of the given type can’t be inscribed , write not possible : A

quadrilateral PQRS with  as diameter.

Watch Video Solution

¯̄̄P R

1. Construct a circumcircle of the triangle ABC where AB = 5cm,

 and BC = 7 cm.

Watch Video Solution

∠B = 75∘

2. In the figure, O is the centre of the circle. Find the length of CD, if AB =

5 cm. 

https://dl.doubtnut.com/l/_m2triqgWbk7Y
https://dl.doubtnut.com/l/_7yh1oMFO4ca0
https://dl.doubtnut.com/l/_VrkgQ1wsiyCZ


Watch Video Solution

3. In the adjacent figure, there are two concentric circles with centre ‘O’.

Chord AD of the bigger circle intersects the smaller circle at B and C.

https://dl.doubtnut.com/l/_VrkgQ1wsiyCZ
https://dl.doubtnut.com/l/_wcteRW07EuZy


Show that AB = CD. 

Watch Video Solution

4. Let ‘O’ be the centre of a circle, PQ is a diameter, then prove that

 (OR) Prove that angle in a semi-circle is right angle.

Watch Video Solution

∠PRQ = 90∘

https://dl.doubtnut.com/l/_wcteRW07EuZy
https://dl.doubtnut.com/l/_aosW8rKbuUYd


5. Find the value of  in the adjacent figure. 


Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_9XD89j08V230


6. In the figure,  then find  ? 


Watch Video Solution

∠A = 120∘ ∠C

7. In figure,  is a diameter of the circle,  is a chord equal to the

radius of the circle.  and  when extended intersect at a point E.

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄CD

¯̄̄ ¯̄¯AC ¯̄¯̄¯̄BD

https://dl.doubtnut.com/l/_kMQXZPB7EPYA
https://dl.doubtnut.com/l/_VmNYPSc9OdCp


Prove that . 

Watch Video Solution

∠AEB = 6∘

https://dl.doubtnut.com/l/_VmNYPSc9OdCp

